תרגולון – תרגילי חשבון לכיתה א
>  <  =
רִשְמוּ < > = בְּכָל אֶחָד מְהַתָרְגִילִים הַבָּאִים (תחום ה- 10):

	2  ____ 10


	5  ____ 2


	7  ____ 8


	0  ____ 1


	10  ____ 5


	 + 52  ____ 4 - 10


	3 – 7    ____ 1 + 3


	 + 50  ____ 0 - 10


	3 – 8    ____ 2 + 3


	


רִשְמוּ < > = בְּכָל אֶחָד מְהַתָרְגִילִים הַבָּאִים (תחום ה- 20):

	12  ____ 10


	15  ____ 12


	17  ____ 18


	10  ____ 14


	11  ____ 15


	 + 152  ____ 4 - 19


	3 – 17    ____ 11 + 3


	 + 122  ____ 7 - 19


	8 – 17    ____ 11 + 4


	 + 152  ____ 2 - 19


	3 – 19    ____ 13 + 3


	


PAGE  
2

